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The Benefits of Bamboo

In the district of Asosa, the land is thick with
bamboo. People plant it and manage the

forests. They rely on its soil-grabbing roots to
stabilise steep slopes and riverbanks, cutting

erosion. They harvest it to burn for fuel, to
into charcoal sticks to sell to city dwellers anG
to build furniture.

Asosa is not in China, not even in Asia. It is a
district in the west of Ethiopia, on the Sudanese
border. To many people, bamboo means China.
But it’s not just panda food—mountain gorillas
in Rwanda also live on bamboo. About 4
percent of Africa’s forest cover is bamboo. Soon
it may be much more. Bamboo may provide a
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Only giant pandas feed on bamboo.

'C) NOT GIVEN

AT

Keywords: pandas

JR3C: ¥R IESCEE2ES But it’s not just panda food
—mountain gorillas in Rwanda also live on
bamboo.
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#E: PR RERENRY — — FIEIARM
L3t RIIZ W PATF .

T ¥R feed on=live on; {BonlyZX /rnot just
Flalso. &Z: F1

Question 2 2/10
Giant pandas eat bamboo only.

'A) TRUE

‘B FALSE
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Question 2 2/10
AT

Keywords: pandas

JR3C: ¥R IESCEE2ES But it’s not just panda food
—mountain gorillas in Rwanda also live on
bamboo.

#E: MFIRUERENRY — — FIEARN
L3t RIEIE B AT F A .

Rt R “KEEWRAMZITF. " “EITREARER
PH—m? "BLEF, FRAER! RS
ZBEMENY), EFalse! BEIDERBENR
IR, BECIRECEHITHIM. S
RIRFEIMEI R 2R RIEMF, EIt4 3
NG. SE1EFSE2MEFGonly, [BERE,
ERAE, Firhs. BEHE: NG
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No less than 20% of carbon emission in this
world is caused by deforestation.

> (A RGUE

B FALSE

'C) NOT GIVEN

AT

Keywords: 20%

RS XRZIESCEIEE And deforestation accounts
for at least a fifth of all carbon emissions
globally.
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#E: HTMREELENERAD Z —HIRAER
BRIT.

Rt SERIBMR: No less than=at least; 20%=a
fifth; in this world=globally;
caused=accounts fore 2Z%: T1

Question 4 4/10

Replacing hardwood with bamboo as fuel
can reduce the mortality of children under
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'C) NOT GIVEN

AT

Keywords: children under 5

R

EE

Xt R IE X854 E8% The resulting air pollution
kills some two million people a year. Almost
half the deaths are from pneumonia in
children under 5. Bamboo and charcoal
made from bamboo burn more efficiently
and cleanly than wood and wood charcoal.

BFEELRLZA_BAAIARTEIHNZSR)S
Fo RAFHMNIEEEZEMRIEERIL
¥, th{IEMERSUT. UF, AR
w, BZAKLMAR, GEBRGSEEMF
43 F5E %


cracy
Typewritten Text

cracy
Typewritten Text
火山雅思 原动动雅思 微信ddysielts


B%E <= T46:48 [ ]

RRAT %5 ]
0000 O0000 00 ddysielts
Question 4 4/10

Rt AR AT FEARREARNERRRRT AREE
AE—TILEMNETER. FEIER:
mortality=kills, deaths. “ZEIfREAREFLH
—R? "HLREFE S E QIR T TR IR E
EMER, HAREHRERF{EIE TR
reduce the mortality. 50X ££%EF il %8 19
JLE, #ERENEAMEIENZ S5 Har
pollutionS & . MR Xt TFIRGEE
&S GEE. More cleanii2less
pollution, Tfiless pollutioniif £reduce
mortality. 2 ALLHEA) LT XA Truedlt
B, BRATREEMRE, Fo BR: T2

Question 5 5/10

Bamboo is a kind of renewable, fast-
growing tree.
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growing tree.

'A) TRUE

@) FALSE

'C) NOT GIVEN

AT

Keywords: renewable, fast-growing

JR3C: XN IEXEE6EE+ But bamboo is a grass,
not a tree. Under the right conditions, it can
grow a full metre a day—you can literally.
watch it grow. It is also fast maturing.+
Most important, bamboo is renewable.
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Most important, bamboo is renewable.

#E: M TFREREY), MARAREK. REIR
BEE, MFAU—RK—K——{RATLA
REFFHEEECRT . +REZNE, TF
& A LABAER.

gt MEZEWN, RXGERE. “ZIPREREHHE—
R? "BRZEEBR AT AR, TFHE
KGR ATHAEMR, renewable, fast-
growingIR#EEI TH! (FHE, FRCHIR
MFRER, TNENAK..... R, #HT7H
T, ZZ, NEARX (EBRARNSHR
T) o MBEHRIRTFREALR. Treef
grassTEIX B R Xid. &EXR: Fi
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One benefit of bamboo is that it needs less
water to grow.

'C) NOT GIVEN

AT

Keywords: less water

JR3C: MNIECEE7EE And bamboo is
parsimonious with Africa’s most precious
resource: water.
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resource: water.

#F: MTFERIEBEKNEY — —KZIEM
XREDFZRIFIR.

i@t benefit=advantages; less=parsimonious.
“ZIMBERBERMA—R? "ZEE AR E A
=, BABREXETNENHTIZEEEX
KA % B S parsimonious—id. FRIAN
RNERREE . BNIZEREZEE A
rfmadvantages, BPA B ATTFXFIEM
BxpreciousE 51 YK Z IR T K M iZ 2
less, FBEHEENRE . [BAZEI1ATH,
BiZiE5R K] BER: T2

Question 7 7/10

Bamboo can grow in the extremely dry



% = T46:48 T

REAT

U?‘
i
—

Question 7 7/10

Bamboo can grow in the extremely dry
environment.

'C) NOT GIVEN

R
Keywords: extremely dry environment

JR3: XNIEXE8E: While bamboo can tolerate
dry conditions, like any plant it will grow
more slowly with less water, and it cannot
arow in desert climates—exactlv where it is
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grow in desert climates—exactly where it is
needed most.

B MFAUURRTRNSKE, ERFHEERE
—#, KOMNFEEHEEKRE, MAE
RGN RIMERAEF — — AR AIE
ERHEENNHT .

M JEE: extremely dry environment=desert
climates; {Bcan5cannotfImiR X. &

2= F1

Question 8 8/10

Hollow bamboo grows faster than solid
species in Africa’s lowlands.

‘A TRUE
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‘A TRUE
‘B FALSE
> (& NOT GIVEN
RRAT

Keywords: Africa’s lowlands

A3 XYNIECEE8E: And most bamboo is
hollow, which means it burns more quickly
than hardwood. Fortunately, bamboo that
grows in Africa’s lowlands is one of the few
solid bamboo species.

X BXZENTFEPRZH, XEREES

1. el Lbh A /5 = 1.1, = V= L) =3 wd b= N1 S LI
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#ME: BRZENTTFREPREN, XEREER
EEREARRIRSER. £ERE, MK
A RANXETFZ AV Z RIS @M.

iRt BESCIRE Thollow, solid species, Africa’s
lowlands, B&BLLEEFEKXR. “EIHEER
REEA—R? "B Rfaster A HY
more quicklyB AEBERAVEE RS, B—1
KB/R, — PN EESR, HHNAE—MHE
B ZBER: NG2

Question 9 9/10

Planting bamboo can gradually improve the
soil fertility.

(A RGUE
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Q TRUE

B) FALSE

. (C) NOT GIVEN

R

Keywords: soil fertility

JR3C: XN IESEE9EL Because bamboo requires
few nutrients, it can grow in soil
inhospitable to other plants—not only does
it thrive there,_it can reclaim the land so
other plants can thrive, too.

#F: AATFHFRINTRTES, SHEEY
FAEE . PATATDLA K 2 + HEHROR AR &
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8} BAMFNASINTERAS, SEEHEY
FAEE, EATATAERKE LR AR BT
SR T — — ENA{NREE AR LR
K, HEEE LR, MmmfERIAI1E
RE R E R

AT BR ‘MR s LEAR N, "E
ARIBEMRESCA: .. .not only does it thrive
there, it can reclaim the land so other
plants can thrive, too XX A& X . “ZEI
RERNBERH—R? "ZEE L MPANT
i, FE PSRty RS, BF
1 ZE1ENG. HSERNFEORAPEHITF
HYIX FPHREF BE /1 — — RER DRI L AR
N FEEEHTREEARA, EFHIF
UERR: ARRELTEWEE LHIET, F
k#MTIF, 5FF WREAE
gradually) , MR ATAFERT « &

s e
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gradually) , EMXATAFERT . &
2= T2

Question 10 10/10

Cutting down bamboo forest to produce
durable goods before its decay is beneficial
to the environment.

(A RGUE

B FALSE

'C) NOT GIVEN

P I B
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Keywords: Cutting down, durable goods

JR3C: 3N IESCEE 10, Paradoxically, harvesting
bamboo to make durable goods is greener
than not harvesting bamboo.

#E: BMFEMNE, WEITTF R st
AT BB NER R

Rt TR, BFER: “EMFEAAE, WA
MM ELEFm AR, BXNREIEES
FIRIIT . " JER: cutting
down=harvesting; produce=make,
beneficial to the environment=greener. H
SKIRX fa RiEEHEIREwWhy, mmEIZEE#
WEE2AER TR, E1FE|decay.
“ZITBERBERHA—R? " RINARRET ,

o WARMF, BUAZEHE. TR
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¥o BAREMF, LAREHEHE. TR
Mo [z, RAEMIEREERA KE
Fo XHHNZERZR ESR¥F, M E8RF
2o EFATLAULRLEHNEE. M2
7R3, FEEFEFELAEY, 2257 —
X, AREAM. BREEZRFHE—R
B, AASIENFRNR R, HXHME—
MISKREZBHEER. B, BF
HEEHBN. REMBTHRE, SaEM8
RIRE EMRNEZENFZBEIL. F
&, BELERENFIRSEFREME
HiEX, EEERLFECHESK, AR
TRANR B IX L SCFRY Y & FPRR SR 3R G, B
SEZMF L. <HE5Y @i, BELC
. EHUR, FWHEDILIVRENEIR. IR
KE IR — £ AP TR B AR IXS IR Z A&
i, RIRAGHRHOAZIANIRE FISCF,
IR RE R B ENRES AT
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v L S IW YN ) Bl S I 7S

ﬁf)f§']$%$_t8ﬁ#ﬂ: %J:Bﬁ#
E'Jo IEFA AR LB SE. LR
E7r3¥, SEEFERAEW, E257T—
X, ARAEW. ERETERFHE—R
B, AAGSEMFNE, HEEMmE—
MESKRBHBCHEER. B, 5F
HLEFWN. REMITHRHE, SaE8
RIRE EMRNEZENFZHBEIL. F
2, BRERENFRRST/BREMNK
Bk, SESELFECHESRK, A%
PRI B IX L PR Y & FhER FESR1E , WL
SEZMIF L. <E5Y fiRtr, 2ELC
. THOR, B ILINIKENEIR. K
KLE R — AT ERRIRIIIT R ZFE
B, BRARBBRPAZHANREFSCF,
IRt AR B BT R B ME AR
Bo. 1 BHE: T2





